Pre-Calculus 11

Chapter 1 Review Name | KG\\

Match each formula with its description.

O S, = nl ;t ) A. The sum of a geometric series
2. Q S =1i- B. The n term of a geometric sequence
3. _6_ t, =t C. The sum of an arithmetic series

when you know the last term

4. _H_ S, = t‘—(:—l) D. The n™ term of an arithmetic sequence
—-r
5. _D_ t, =t +(n-1)d E. The sum of a convergent infinite geometric
series
6. _F_ S, = n(2h + ;n —)d) F. The sum of an arithmetic series when
you don’t know the last term
Fill in the blanks.

The common difference in an arithmetic sequence can be found by: subtypoh nO\
o termn by ANe previons Yerm etz -£)

An arithmetic series is the  SUYY\ _of the terms of an arithmetic sequence.

To find the general term of a sequence we substitute _ ¥\ for the variable n.

The common ratio can be found by: d\\/\dw\q o Yern b\1 the WQ}V\OUS e (\Q . )

How can you tell whether an infinite geometric series has a finite sum? Is it a convergent or
divergent series?

W hasa fimre sumib ane SeNes convwgﬁ‘s.

o el
7. State the general term for the following:
2)1,4,7,... kvithmefic b)2,6,18,... Geometnc
by =1+ (n-D3 v,=2 (’LY\-‘- 7_(7:)“-\\
d=3 En=1+%n-% r=3

n=N n=nNn
\ tnz=d3n-"1
Goways' [::j

€or cjcr\era\ Yervm




Pre-Caiculus 11

8. Determine the first term and common difference of the arithmetic sequence with-~

ts= l6andts—25 Flndtlz bnjb‘.‘(ﬁ—\\d

Ty = Ry (2 -\\(%3

—/ﬁ—%—\_ﬂj\—\%‘? 4;5_:“0 o=t + (5-D(3) Bz =4y (iD03)
s A +d g’g \w-b, v YL Lip ~ W22

W+23d=125 - 3 - -

9. De@e number of terms in the arithmﬁggivcwsequence: 3,5,7,....,129

n="7 L=ty vy (-8 7 128 -n

b,=?% 129:=2 4 (n-\)(2) -

=z <3 73 \’\': o |
S ‘2\'20\ L = 2 - 1 .
ne Yo NleYhevms
28 - n
10. Determine the value of x in the arithmetic sequence: 2 +x, 10 —x, 9
\ '\ P ‘ Cl" “'/%:L’)’ q—”v\d d—-'tz X, t, b'l, tz

vy = q-(10-X) = (10-¥) - (L4+1)

11. Find the sum of the first ten terms for each series.
a)2+8+14+.

A-(10-%) = (V0-X) -(24%)
A0 Y = V0~ -) -%
“\XX =8-1y
2w Y LX

‘;‘:13/ o n(Zt v Dd) n=10 ;\_hti_ id_}i‘j Sio = 10 (2 +(r0-N(BY)
| = NANANAT
_ (10 - V) ty 2
=l Sie =10 ('L(Z)-\— =7 L\‘\’L\d:l“\
; 2 A -y Yy =5(8 + (M)
26 (4 (LD nd=70 :
=\LA0 dmé—l
12. Find the sum of the following arithmetic series: 2+ 7 + 12+ ... +92

Sa = A (z(2) ¥ 01-DISN

E.=2 tr:=t.,1 (n-1)d

9 A2:224(n=-1NG§

n- .

Le92 -

" q0~%n % S
d=g 15 L

qsfen—%@

Z

Q
R

13. In an arithmetic series, S;s = 1305, S;¢ = 1488 and t; = 3, find the common difference.

_-,.‘\'_,_.'\T'y b\(g:s\b's\%
b\ . ) ‘l«\
hoTE = 488 -1305
’y——*'_J -

Sie 21305 =193

e/

Sy = M8

tn= b.+(n-\\d
182=2+ (\o-Nd

-3 -3
180 = 15d
s B
d=12 |
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-4, -
14. In a geometric sequence t1 = 2 andts=-162. Find tg. tn=t,

R =3 bg-z(ab
ts =7
bW MK Y =2(2)"
xy AT XO xy¢ n;g _
- =2(2v8M
L T
2cF\0l 0374
7, 7
™ =08\ o
V - "‘, }8\ 7‘(' 2.)!
15. Find the sum of the first ten terms of the following: 24 —12+6 — .. " .

: \OZ - .
n=\0 Sn=t (v-r™) > = 14 (TB{Q \um) = 24552 1 &
(= -\ \ e e T )Olq 5

pAn! Z (_\ )lo)
21224 o1 7C3) J ,&vz N
i) \07—"'|
V- (%)
\
"_'*_—— [
- 2 0~ ow ) _ _1_3__5_7§1,_. L 2
. . Vg 0z 2
16. Find the sum of the following geometric series: 17 —51 + 153 —.... — 334611
t=\"1 FH‘\(\“V\”" : ' Sh=t G-v™)
S L
Lz -2 = byer” A A
(=28 .- pells ) | S = V10— (-2))
A - o e 7 (-3>
n=" L8 = (- 29" \ xgucssamdchuu
,\o‘bg%:(’g) —>n=10 "
17. State whether each infinite geometric series is convergent or divergent. Find the sum if it
exists.
5 5,5 10
a)—64\-‘|;16—,4\+1—... , b)'l—z‘—g-l- ;—?-l'"'
"“:ﬁ RN AT 2.5
—to\l - 15) b “ 2
Seo = n \* -
. =R«
A B (PPN | . %
—(DL\ 'b"\ —_ LD o
_ -2 7 o lV'Cf% |
1- lq\ 3 e Nno suM
18. In a geometric series, S3 = 9, S, = —15, and S5 = 33. Find the common ratio. (V -1
L= 55-Oy ty=Sy-33
:'53"("\5\) = -\% -9
= 7)?)'\'\% = - M
=48 y-ous
-2\
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weze= .19, In-a geometric series, S¢ = 6825, r = 4, find the first term. = U)
S = WE2S Sn=t, (\'Y") 8% z4,(-409 5
o v —3
"=l L825=t, (\—L{") L3215 tb)C\%c?
b= ! -4 1265 \ 3l

20. A rubber ball is dropped from a height of 32 m. Each time it bounces, it rebounds to 60% of
its previous height. Determine the total vertical distance the ball has travelled after it has hit the

ground for the ﬁﬁhtmetonsxder 222 + 23 (0L) ¥ 2L(22)( N l(’;lj(o‘b\?fllKS'ﬁXO:ﬂ
2272 4 b4 (00 ¥ BY (0.6)> + (0D M (8+0d

oA 0O, wy\I@w‘ OR// g5 = {-,, (\ _— ) Toia\ Vertica\ Tiiance

et 3 v - W65 -22

S e 204 (1 -00%) ] pg,.6e8Y

\ - v
21. Amy deposited $500 in a long-term savings accognt%n her 10% birthday. She did not make

any more deposits or withdrawal. The account earned 8% per year. How much money did she
have in the account on her 25™ birthday?

500 , 600 (1.08) , GO0 (V.08Y, ...

n=2%-10 by =t ! |
=15 tre =500 (1.08)
L.:SOO 1S !

(109 - \HL3.6T §L-] 8-49

22. Determine a fraction that is equal to 0.12222 ...
0,1222... = 0.1 ¥ 0.0 % 0.002 ¥ 0.0002 ¥ 0. 00002+,

’\P INEime 3comemc cenes
10
.\;\1- O\O‘)- goo__ ‘b\ ‘ O \?/Ll
r=0.00L \-Y 5 0.
0.0 - 0,02 T 2 2
(= O\ PR \0 9o
\-o = j_— %&—
- 0.02 90 90
o5~

0.9 Ko
-2
A0



